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Find the simplest form for each éxpression in the

corresponding answer column. (Some of the
expressions cannot be simplified.) Write the letter of

the exercise in the box containing the number of
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For each exercise, multiply the two polynomials. Find your answer in the set of answers under the exercise.
Cross out the letter above your answer. When you finish, the answer to the title question will remain!

Why Is a Stick of Gum Like a Sneeze?
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OBJECTIVE 1—k: To multiply polynomials.
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OBJECTIVE 3—e: To factor a polynomial as the product of its greatest
monomial factor and another polynomial (polynomials in one variable).
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